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This paper contains FIFTY (50) multiple-choice/Assertion and

Reasoning/Matching questions, each question carrying two (2) marks.

Attempt ALL the questions.
2L Nl A (w0) oyglselly usedl, g-viig A ASsi clrlqairil

ol B, I Ma-iell gUet dual-l 8. Udls Usd-u 4 () @ 8.

The equilibrium of the consumer
may be a corner solution when :

(A) Goods are perfect substitutes -

(B) Goods are perfect .
complements
(C) Two commodities can

substitute one another to a
certain extent but not perfect
substitutes

(D) None of the above

Which of the following is a good
example of monopsony in India ?
(A) Mining companies supplying
coal to the steel indusry
(B) Ancillary units supplying
components to the railways
(C) ONGC supplying crude oil to
the petroleum industry
(D) Asia Brown Bovery
supplying ‘electric boilers to
the state electricity boards
A firm achieves least cost in
production by substituting factors
until :
(A) their factor prices are equal
(B) their marginal physical
- products are equal
their marginal physical
products are equal to their
factor prices
their ratio marginal physical
products are equal to the
factor price ratio for all factor
inputs

©)

D)
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Which of the following best
describes the substitution effect ?

(A) When the price of a good

rises, consumers stop

consuming the good
(B) When the price of a good

rises, consumers tend to .

substitute it with a relatively
expensive good .

(C) When the price of a good
rises, consumers tend to
substitute it with a relatively
inexpensive good

(D) When the price of a good

~ falls, consumers tend to

substitute it with a more
expensive item in order to
fulfil their esteem needs

Which of the following statements

~is true ? '

(A) When supply increases, both

the price and quantity will -

increase '
(B) . When supply increases, the
supply curve shifts towards
left : ,
(C) A fall in the quantity
supplied results in shift of the
" supply curve towards left
(D) A shift in the supply curve
towards right results in fall
in price
The firm is in equilibrium in the
factor market provided :
(A) Marginal revenue product is
‘equal ‘to marginal factor cost
(B) Marginal revenue product
curve must cut marginal cost
curve from above
(C) (A) and (B) both
(D) Marginal revenue product
" curve must cut marginal cost
curve from below.
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10.

The interest rate at which the
Reserve Bank of India tends to
commercial banks in the start
term is known as :

(A) Bank rate

(B) Interest rate

(C) Repo rate

(D) Reverse repo rate

M; includes :

(A) Demand deposits with banks
(B) Time deposits with banks
(C) Currency with the public
(D) All of the above

If the consumption function is
C = 50 + 0.75Y, the value of the
multiplier is :

A 2
B) 5
© 4

(D) 2
3

Phillips curve deals with the
relationship between which of the
following :

(1) Wages and price level

(2) Price level and unemploy-
ment

(3) Unemployment and inflation
(4) Wages and deflation

Select the correct answer using
the codes given below :

(A) (1) and (3)
(B) (2) and (3)
(C) (3) only
(D) (4) only
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11.

12.

13.

14,

(C) Believe

The acceleration - principle
applies:
(A) to gross investment

(B) to only to net investment

- (C) to desired level of investment

(D) foreign investment

The transaction demand for

money :

(A) is a function of income only

(B) is a function of bond prices

(C) is a function of income and
rate of interest ’

(D) none of the above

Real business cycle theorists :

(A) Argue that the accelerator is
the primary cause of the
business cycle

(B) Argue that business cycles
are actually variations in the
growth rate of the economy

that natural
phenomenon can create
business cycle

(D) Believe that clusters of
innovations in the economy
lead to the appearance of
business cycle )

According to classical economists :

(A) Individuals desire to hold
money only because of the
precautionary demand for
money

(B) Individuals do not hold
money either because of
precautionary or speculative
reasons

(C) The velocity of money is not
constant but predictable

(D) The velocity of money is not
constant and cannot be
predicted with any degree of
certainty
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15. The

16.

- 17,

first economist who
propounded the theory of
balanced growth without using
these words was :

(A) Rosenstein-Rodan
(B) Nurkse

(C) Hirschman

(D) Leibenstein

Human Development Index

considers :

‘(A) Four dimensions of human

development

(B) Two dimensions of human

development

(C) Three dimensions of human
development

(D) One dimension of human
development

Sustainable development refers

to :

(A) Pattern of development that
permits future generation to

live at least as well as the:

current generation

(B) Pattern of development that
promises rising growth rate
of the economy

(C) Pattern of development that
permits the equitable
distribution of income

(D) Pattern of development that
promises growth of export
sector at a faster rate
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19.

20.

21.

18.

The development approach in
India since 1991 onwards was

based on :

(A) Mahalanobis model

(B) LPG model

(C) PURA model

(D) Gandhian model ,

The concept of ‘economic dualism’
was given by : |

"(A) Arthur Lewis

(B) Boeke

(C) Karl Marx

(D) Schumpeter

According to Karl Max, capital
accumulation is due to :

(A) surplus labour

(B) surplus capital

(C) saving of the capitalists
(D) variable capital

Schumpeter assigns the role of an
innovator to :

(A) capitalist

(B) entrepreneur

- (C) labourer E
(D) capitalist and labourer both

The basic conditions for steady
state of growth is : ‘
(A) Growth rate of real income/
output remains constant over
long period (GY)
(B) Growth rate of the stock of
. capital remains constant over
long period (GK)
(O GY = GK

(D) All of the above
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23.

Which Five-Year Plan was based

" . on Mahalanobis model ?

25.

26.

(A) First Five-Year Plan
(B) Second Five-Year Plan
(C) Sixth Five-Year Plan
(D) Seventh Five-Year Plan

Which one of the following is not
a method of debt redemption ?

(A) Capital levy

(B) Debt repudiation
(C) Sinking fund |
(D) Monetization of debt

Under Gadgil-Mukherjee formula,
the hightest welghtage is given
to :

(A) Per capita income

(B) Population

(C) Performance

(D) Special problems

Fiscal policy is not associated
with :

(A) Taxation policy

(B) Interest rate poliey

(C) Public debt policy

(D) Public expenditure policy

Functional finance theorists

believed in :

(A) Deficit budget

(B) Balanced budget
(C) Surplus budget

(D) Any type of budget, ‘provided
government tax revenue and

borrowings that are used

appropriately to eliminate
inflation and unemployment
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29.

31.
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Fiscal Responsibility and Budget

Management Act was enacted in

the year :

(A) 2005

(B) 2001

(C) 2003

(D) 2007

Which one of the following is the

most important item of public

expenditure of the Government of

India in 2008-09 (Budget) ?

(A) Interest payments

(B) Defence expenditure

(C) Subsidies

(D) Grants to states

Which one of the following is the

most important source of tax

revenue of the State Govern-

ments ?

(A) State Excise Duties

(B) Sales Tax

(C) Stamps and Registration Fee

(D) Taxes on vehicles

Under the general equilibrium

approach :

(A) Tariff always improves the
welfare of the society

Tariff always improves the
welfare of the society with
the improvement in the terms
of trade of a country

Tariff improves the welfare
of the society with the
improvement in terms of
trade upto a certain point
(tangency point) between
Offer curve of the partner
country and trade
indifference curve of tariff
imposing country

Always deteriorates the
welfare of the society

(B)

©)

(D)

10
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32.

33.

According to the absorption
approach the devaluation of a
domestic currency improves the
trade balance if :

(A) The sum of the marginal
propensity to consume and
margmal propensity to invest
is less than one

(B) The sum of the marginal
propensity to consume and
marginal propensity to invest
is equal to one

(C) The sum of the marginal
propensity to consume and
marginal propensity to invest
is greater than one

(D) The sum of the marginal
propensity to consume and
marginal propensity to invest
is zero

The limitation of the Leontif

paradox is that :

(A) The study is based on
importable commodities
rather than imported
commodities

(B) There is a possibility of factor
intensity reversal

(C) Supply of labour is not
properly defined

(D) All of the above

The validity of factor price

equalization theorem depends

upon :

(A) The validity of Heckscher-
Ohlin theorem

(B) Validity of Ricardian theory

(C) Movement of factors of

production »
(D) Supply of factor production

Eco.-II
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35.

36.

37.

39.

The secular deterioration in terms
of trade of under-developed
countries is associated with :

(A) Singer-Prebisch
(B) Jagdish Bhagwati
(C) Adam Smith

(D) Marshall-Lerner

Customs Union represents :

(A) Free movement of goods and

services

(B) Free movement of factors of
production

(C) Identical currency unit and
common fiscal and monetary
policy

(D) (A) and (B) both

Which of the following must
always balance in the foreign
trade of the country ?

(A) Balance of trade

(B) Balance of payments

(C) Balance of current account
(D) Balance of capital account

During 2006-07 which item had
the highest share in India’s
exports ?

(A) Gems and jwellery

(B) Readymade garments

(C) Machinery and instruments
(D) Handicrafts

First Ministerial Conference of
WTO was held in :

(A) Singapore

(B) China

(C) Germany
(D) Washington

Eco.-II
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40. In India in 2004-05, the number

41.

42,

of poor persons below poverty line
was highest in the state of :

(A) Bihar

(B) Uttar Pradesh
(C) Madhya Pradesh
(D) Rajasthan

Which of the following is the most
important component of the
liabilities of commercial banks in
India ? :

(A) Time deposits

(B) Demand deposits
(C) Inter-bank liabilities
(D) Other borrowings

Most appropriate average to
determine the size of mangoes on
a tree is :

(A) Mode

(B) Median

(C) Mean

(D) Geometric mean

For which of the following
measure of central tendency, the
sum of differences measured from
it is zero ?

(A), Mode

(B) Median

(C) Mean
(D) None of the above
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47.

. The mean and variance of

Binomial distribution are :

(A) np and npq

(B) np and \[npq

(C) np and nq
(D) n and pqg

The major components of time
series are :

(A) Secular and cyclical changes

(B) Seasonal and
changes

random

(C) Periodic changes and cyclical
changes

(D) (A) and (B) both

Fisher’s ideal price index number
is the :

(A) geometric mean of Laspeyre
and Paache price index

| (B). arithmetic mean of Laspeyre

and Paasche price index
21’1(‘10 + QI) .100

Z po(qo + 1)

(D) None of the above

©

A sample of unemployed persons
obtained by taking every fiftieth
name from a register of
unemployed is :

(A) random sampling

(B) the case of systematic
sampling

(C) stratified sampling
(D) Quota sampling

Eco.-I1
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When population is not normally
distributed, to test the hypothesis,
one has to use ?

(&) %2 test
(B) t-test
(C) F-test
(D) Z-test
49. There are 5% defective items in
a large bulk of items. The
probability of not having even a
single defective item in a sample
of 10 items is :
19}
(A)‘ (56)
(B) 1
20
19
©) 20
(D) 0
50. Which one of the following is not
a measure of dispersion ?
(A) Quartile deviation
(B) Standard deviation
(C) Geometric mean
(D) Range
Eco.~I1
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48.

49,

50.

oru1d AHB2 uHed A 4uadl
Qi R, uRseu- udlaw e :

A) x2 wlaw
(B) t-uz'iatet
(C) F-ulaw
(D) Z-wlaa
Al Guuidl sl ASA.

ARl A5 Hi2L AYSHL 5% argil
wflawell 8. 10 argaivi Mesdi ws
u@l dzg wwdlawll < eiu d-l
e :

19
(A) (50—) 7

1

(B) 20

19
© 55
(D) 0 8.
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ROUGH WORK
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